OO02007/MBAL O 0O 00OOO0OPDFOOOOOOOOO
Oo00o0ooOoon
https://www.100test.com/kao_ti2020/354/2021 2022 E6 9C 80
E6 96 B02007 c70 354821.html10 0100 000040000
Jodododooooooooooooooooodgo
Doo0doddooooooooz20 0o oo” oo
OO0000000000” 0oooooooooOood()
Oo0o0o,0000000,0000000@UO0O0,O0
DJododood.ooa@),C(1,4)*(1,6)/C(2,10)=8/15.0
0(2),C(2,4)/C(210)=2/15.0 00000000000 od,
00O 0O,0(2/15)/(8/15 2/15)=1/5 20 O A0 30 O U O bl,b2,b30
DO000030000000 Abl=bl b2, Ab2=-bl 2b2-b3,
Ab3=b2-3b3, 0 |[A|UOOO|AI=80 DOOOA=00000
Do00o00o0o,00bik2b30 0000000000000
O,00o00dooo,0-so30oddodoouoonn
Doo0doooilidooowooooooouoo ooon
Jiooo0ood7d booooooouooooooogo
D000 0o00doooooboodoodoonoonil/ed
O o0oodooooooodo,0oodryd,sd,en,100 0
O 0.0 C(710)0.5M7x0.573 ......C(10 10)0.5710, OO I 11/64. 41
Oo0000000000o0ooK,0ooooooooon
OO000Oa/gaa*g=k(k0 0 O 0O)00OOa=k/(/glqg) U O
O=23,0000000000a0000.0a00,000
Og=10=-1.00¢=-10a0 0 00-k, 00000000
Oa=-kN3.(mbal D OO OOO)S000000000000
Oo0000o0o0odooooooooooooood



00000100000 00000C030500000¢0
0cO2050Cc03050CcO4050CO50500000000
00020304050000000000200000 00
000200000000000000000020000
0000013/160POABO 0000516005130 000A
0000000000BOODOOODOOOOO AOBOODO
0000000000000000p=1/2
P(A)=1-(1/2)"5-(C5|1)*(1/2)*(1/2) 4=13/16 A0 O B

[0 P(AB)=P(B)=(C5|3)*(1/2)"3*(1/2)"2=5/16 O [J

0 P(B|A)=P(AB)/P(A)=5/130 100Test 1 000000000
0000000000000 www.100test.com



